iniRilH N HBRSIR A

2501140122 ‘78061 50067

4120-16 4120-16N

* 502 AR I:
S N Sz 3R o T 5 0 YA UN 7 %2&69
m 55 GB/TH il IR S0 i 0 K b i NFRER| 4288 GOGE)
w ARG E M2 0.4 2
T 44120-2

HA&(mm) - ﬂf’_'(mo) - HA&(mm) - ;13;%(4120) -
=469 Z16e Z4h6h =469 ZH6e =46h
AFRER 285 GO(i#)NOGO(1k) GO(i#) NOGO(ik) GO(iE) NOGO(1t ) M AFRE 12 12EE GO(i&) NOGO(1k) GO(i&) NOGO(1t) GO(if) NOGO( k)
M2 04 | -2 2N 2E | -2EN |-2H | -2HN M16 | 2 | 16 | 16N | -16E | -16EN | -16H | -16HN
M2.2 |0.45|-2D2 | -2D2N |-2D2E| -2D2EN |-2D2H| -2D2HN M18 | 25| 18 | 18N | 18E | -18EN | -18H | -18HN
M2.3 | 04 | -2D3 | -2D3N |-2D3E| -2D3EN |-2D3H| -2D3HN M20 | 25| -20 | 20N | -20E | -20EN | -20H | -20HN
M2.5 |0.45| -2D5 | -2D5N |-2D5E| -2D5EN |-2D5H| -2D5HN M22 | 25| 22 | 22N | -22E | -22EN | -22H | -22HN
M2.6 |0.45|-2D6 | -2D6N |-2D6E| -2D6EN |-2D6H| -2D6HN M24 | 3 | -24 | -24N | -24E | -24EN | -24H | -24HN
M3 05 |-3 -3N 3E | -3EN |[-3H | -3HN M27 | 3 | 27 | 27N | -27E | -27EN | -27H | -27HN
M35 | 0.6 | -3D5 | -3D5N |-3D5E| -3D5EN |-3D5H| -3D5HN M30 | 35| -30 | -30N | -30E | -30EN | -30H | -30HN
M4 07 | -4 -4N 4E | 4EN |-4H | -4HN M33 | 35| -33 | -33N | -33E | -33EN | -33H | -33HN
M4.5 [0.75| -4D5 | -4D5N |-4D5E| -4D5EN |-4D5H| -4D5HN M36 | 4 | -36 | -36N | -36E | -36EN | -36H | -36HN
M5 08 | -5 -5N -5E | -5EN  |-5H | -5HN M39 | 4 | -39 | -39N | -39E | -39EN | -39H | -39HN
M6 1 |-6 -6N 6E | 6EN |[-6H | -6HN M42 | 45 | -42 | -42N | -42E | -42EN | -42H | -42HN
M7 1|7 7N -7E | -7TEN |-7TH | -7HN M45 | 45| -45 | -45N | -45E | -45EN | -45H | -45HN
M8 [1.25] -8 -8N 8E | -8EN |-8H | -8HN M48 | 5 | -48 | -48N | -48E | -48EN | -48H | -48HN
M9 [1.25]|-9 -ON 9E | -9EN |-9H | -OHN M52 | 5 | -52 | -52N | -52E | -52EN | -52H | -52HN
M10 |15 |-10 | 10N |-10E | -10EN |-10H | -10HN M56 | 55 | -56 | -56N | -56E | -56EN | -56H | -56HN
M11 | 15 | -11 N |-1ME | -11EN [-11H | -11HN M60 | 55| -60 | 60N | -60E | -60EN | -60H | -60HN
M12 [175|-12 | 12N |-12E | “12EN |-12H | -12HN M64 | 6 | -64 | 64N | -64E | -64EN | -64H | -64HN
M14 | 2 |-14 | 14N |-14E | “14EN |-14H | -14HN M68 | 6 | 68 | 68N | -68E | -68EN | -68H | -68HN
E%(1BM, 69) EE#(1LM, 69)
BERIFHR BERIFMR
M3x0.5(4120-3), M4x0.7(4120-4), M3x0.5(4120-3N), M4x0.7(4120-4N),
M5x0.8(4120-5), M6x1(4120-6), M5x0.8(4120-5N), M6x1(4120-6N),
4120-S7 M8x1.25(4120-8), M10x1.5(4120-10), 4120-STN M8x1.25(4120-8N), M10x1.5(4120-10N),

M12x1.75(4120-12) M12x1.75(4120-12N)



